107 2R ERIRRAR%RE L F

FRY L EMAESREL E

2 ﬂ.%c
oy T 5 % (12/6) £ %12/
07 : 00~08 : 00 %R
08 : 00~09 : 00 DR AR 2 pER LR T
09 : 00~09 : 30
09 :30-10 : 10 4 340 0 g
(R%:EFf 2]
10 : 10~10 : 25 T R A R L A
e e [ 3-50)
— BLRR Rk v
10 : 25-10 : 30 e AR ARG ST F
10 : 30~11 : 00 CEEED
CRRBRTY CHRAL LR
11:00~11 : 30 i dp 2
11:30-12 : 00 [%:2r4p2 )
12 :00~12 : 20 KT/~ REX%ELE € LR Z AR
12 : 20~13 : 00
13 00-13 : 20 SR RIER
[g5% 4 3]
13:20-14: 10| RFd wlfp Hisl =4 i
A 3
14 :10~14 : 20 % 4 [vZ 2 ¥ %3]
[ 4 e3t]) ERN ARl REEE]
A+ B¥/BeHE KRR
14:920-15:30| 1. 4oip 2 = ¥ agwév?a w2
2 R F Y A B BIATE BT
3. armigsgfw AE 4 FY R
15 : 30~15 : 50 ke
HELA T EFERN]
15:50~17: 00| #72%- Rax %4 R ¢
AEHBEAE N ARRREY R BT
17:00~18 : 30 5 AR
18 : 30 X R




